Problem Set 3.5B
Name ________________________________________________     Date __________     Hour _____
1.  Given each table below, find the rate of change (slope), identify the y-intercept, and write the equation in intercept form.

a.) 								b.)
	Input (x)
	Output (y)

	-1
	-5

	0
	-2

	1
	1

	2
	4

	3
	7


	Input (x)
	Output (y)

	-3
	12

	-2
	10

	-1
	8

	0
	6

	1
	4


					  slope = _____            slope = _____    				
         
y –int. = _____    y –int. = _____
 	
y = ____________ y = ____________
					

c.) 								d.)	
	Input (x)
	Output (y)

	2
	2

	4
	3

	6
	4

	8
	5

	10
	6


	Input (x)
	Output (y)

	-7
	22.5

	-5
	17.5

	-3
	12.5

	-1
	7.5

	1
	2.5



	   
slope = _____  slope = _____                  					  					
y –int. = _____    y –int. = _____         
       
y = ___________ y = ____________	
				

e.) 								f.)
	Input (x)
	Output (y)

	-2
	1.5

	3
	-2.25

	7
	-5.25

	10
	[bookmark: _GoBack]-7.5

	16
	-12


				
	Input (x)
	Output (y)

	-3
	-6

	-1
	-4

	3
	0

	8
	5

	17
	14




slope = _____          slope = _____          	   
					  					
y –int. = ______   y –int. = _____         

 y = ___________ y = ____________	
			
					
2.	Given each graph below, make a table, find the rate of change (slope), identify the y-intercept, and write the equation in intercept form.
	Input
(x)
	Output
(y)

	-3
	

	-2
	

	-1
	

	0
	

	1
	

	2
	

	3
	


[image: ]
a.) 

rate of change (slope):  _______
                                                    	
y-intercept:  _______

y = _____________________

 


	Input
(x)
	Output
(y)

	-2
	

	-1
	

	0
	

	1
	

	2
	

	3
	

	4
	


[image: ]
b.) 

rate of change (slope):  _______
                                                    	
y-intercept:  _______

y = _____________________





	Input
(x)
	Output
(y)

	-6
	

	-4
	

	-2
	

	0
	

	2
	

	4
	

	6
	


[image: ]
c.) 

rate of change (slope):  _______
                                                    	
y-intercept:  _______

y = _____________________




	Input
(x)
	Output
(y)

	-4
	

	-1
	

	1
	

	2
	

	4
	

	5.5
	

	7
	




[image: ]d.) 

rate of change (slope):  _______
                                                    	
y-intercept:  _______

y = _____________________
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